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Colour management for output linearization of a 9 step grey scale Colour management for output linearization of a 9 step grey scale
'* (dash-star) coordinates to reach 1,00, 1,00 '* (dash-star) coordinates to reach 1,00, 1,00
W 1,007 . ) ) W 1,007 . ) . 1,00, 1,04® 1,00, 1,00
, the linearized output with the real o the linearized output with the real
WT* output| display reflection in office room; output W,* output| display reflection in office room; output
W output] |i iti W output]| i iti
put| lighter (positiv P) output start p Ilglr:er (positiv P) ;)utput e start
0,75+ 0,75+ W output = [W¥input] © real
W™ output = [W¥input] 0% W™ output = [W¥input] +°%° - T —inverse
" " \ — — —linearized
= W?" output = W? output
0,50t 0,501
*' (star-dash) coordinates *' (star-dash) coordinates
of real output with real of real output with real
display reflection in office room; 0,50, 0,35 display reflection in office roomj
025+ darker (negativ N) output 025+ darker (negativ N) output
W* output = [W¥input] +°%
W¥input = rgb* (=0, 0,125, 0,250,..0,875, 1) 0,00.0.00 W¥input = rgb* (=0,0,125,0,250...0875, 1)
N 0,00 0,00, 0,00 i ' ' ' N 0,00 0,00, 0,00 0,00, 0,00 i ' ' '
N 0,0 0,25 0,50 0,75 1,00 W 0,0 0,25 0,50 0,75 1,00 W
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Three, 5 and 9 colour steps for visual evaluation
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Three, 5 and 9 colour steps, numeric specification
e04=0, .

bl=e04*al

e48=0, .
b3=e48*
(1-b2)+b2

Three, 5 and 9 colour steps, numeric calculation example
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Three, 5 and 9 colour steps, produced visual linearization
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c24=0, .
c3=e24*
(b2-b1)+b

c5=e46*
(b3-b2)+b]

c7=e68*
(1-b3)+b3
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N-W with 3, 5 and 9 steps, outpiugb*)0.7
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